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Yo should have the follow; n for this examimaipy:
Non-programmable Setentific caleulotorMathematical tabies .‘
Answer bookler:

This paper consists of EIGHT guestions.

Answer any FIVE questions jn the answer hookler provided

All guestions carr V equal marks

Mercimum marks for each part of a question are as indicared

-andidates should answer the questions in Englich,

This paper consists of 5 printed pages,

Candidates should check the question paper to ascertain that all {he
Pages are printed as indicated and that no questions are missing,
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Determine the inverse of the matrix

5 i —53
(4 marks)
Use the result in (a) to solve the simultaneois cquations;
Trg 5}‘ =
4x 3y =—2 {7 marks)
: X ::!J e i
Given that E'—[E 1 and )= 78
Determine:
(1) (CDy"
fu} 2C+3D
iy |b=¢]
(% marks)
Determine the values of x:
(i} logey (3x+ 1) = log, (22 - T)=3:
(i) (F=12s (10 marks)
Evaluate
log 00— ].'I}Emd =5 % !ﬁgmﬁ-l
d I.;ngﬂ : ; |:j' I'ﬂ-Flr'l"lS‘;l
Solve the equation correct to 2 decimal places.
4Bt o Bt (5 marks)
Determine the term whose value is 22 in the series
b4 R (5 marks)

The first, twelfth and last term of an arithmetic progression are 431 and 3767
respectively,

Determine:

{1} the number of terms.

()  the sum of all the termis.

(it} the 8Mth term. { 10 marks)
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A technician started on a salary of Ksh 120000 per annum and received a constant

annual increment. If he camned 7 total of Ksh 643000 by the end of 5 years,

determine hiz annual increment.

Determine the values of 2 for which the matnx has no inverse.

Erm it L
]

ii= 4 [z—10

Convert:
{1} 35, to base 2
{11} [0HO1, to base 10,

Solve for the currents 1 and 1 in figure 1 USINE inverse matrix method,

R=20) I I B2
E=io0y = Ha=T160460 —— E=70V

Given the following numbers:

18,24 and 48:
Determine the:
(i) LCM;
(i} GCD,
Draw a pie chart for the dara given in Table 1.
Table 1
Item Amouni (Ksh)
'_S'Eli.'tr_j' 10,000
Expenditure 5,000
Savings 2000

{3 marks)

(5 marks)

{5 marks)

{10 marks)

{7 marks)

(4 marks)
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Three students shared some money. Student A god Tj.,-,slml.mtﬂ got il-} and

stadent  podt the remainder. If the stedent © got Ksh 290, detenmine the:
(i) fraction student C got

(i)  toral sum of the money sharcd;

(i} amount received by Stodent A

(ivi amount received by student B.

(% marks)
The ratio of the fourth and the first terms of a geometric progression is 6.
Criven that the third term is 48, determine
(1) COMMoN ratio;
(i) the first term. (& marks)
Given 4 + 20+ 100 + ... + 1362500,
Evaliare;
(i) COMIION ratio;
(1) the number of terms in the series;
(iii} sig of the sernes.

{* marks}

Find the rate per annum at which a certain amount of money donbles afier
being mvested For a period of 5 years compounded annually. (Give answer
comect o'l decimal place). (5 marks)

Table 2 shows the distribution of marks of $ibcandidates ina mathematics test.

L

Tahle 2:

Mdarks 1=100 § RE-240 | 2830005000 ) =50 | 51 -60 | 61700 T1-80°| 8150 | 91- 100

Frequency

)
-2
e
o

12 5

8]
[

Dt me;

(i} Mean;

[1E] Standard deviation.

Clorrect to 2 decinal places. (11 marks)

From the data in Table 3, determineg:
(1) Mo

(ny  Median

Cormect (o 2 decimal places.

Tahle 3:

Classamteryal | 0-5 | 35100 | HO-15 ) 15200 | 2025 |25-30 | 30-35 § 35490 | 40-45

Freguency 3 7 o | ool 1z | s e

{9 marks)
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solve For & 1n the eq uations;

@ 3=z

() #Fx3F=p {8 marks)
Simplify
: .I"( B b
o FH)
. 1 1
— e =
‘.U} '[-,III-E—-.-'IE} {-.-"31-1;‘2) (6 marks)

A sum-of money accumulates to Kah 52000 5 years at 5% per annum simple interest.
IF the rate 15 8%, determine the ime it would take for the amount to be Ksh 4 096 4
simple interest. {6 marks)
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